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20209 &= =0l4& LB H ZAIAS
EM: TAASD
M WG T ADIEE 2L
chelr 2 zelHE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SANA=H 23,139,222 14,603,599 8,535,623
= 6,504,071
< 1,250,913
s 12,929,114
T 2,455,124
PES S AIDIEE 24 8,320,108 7,579,913 740,195
< 392,000
[ia 7,928,108
= ZelAHE =8 724,480 944,350 A 219,870
=2l HE 2BFE 535,780 915,500 A 379,720
201 Let24E] 11,080 9,800 1,280
01 At 22l 11,080 9,800 1,280
OfIda &4 =4 9,800
—ZAHELAS FAX =€
70,0003 20 *43| 5,600
—ZAELAS(120) AKX =2
70,0003 x5% » 123 4,200
OZAAHSTHEH =& Sl
8,000& »2H +80 1,280
202 O4dl 2,700 2,700 0
01 = LH 4 Hi 2,700 2,700 0
OZAAHETHAEE =& 2UHAYI
60,0003 x3H 15 2,700
203 ¥ S =&l 3,000 3,000 0
03 AIF=XH 2 =AY 3,000 3,000 0
OZANE S R =2 3,000,000 3,000
207 A O] 519,000 900,000 A 381,000
01 289 479,000 620,000 A 141,000
02025 &z 22HE HIE
479,000,000 =14 479,000
02 & AR b 40,000 280,000 A 240,000
OZAAE HAH(WPISIZZEDNY 2 2 R
2l 18,000, 000& 14! 18,000
OZAIHE HEAAE(UPIS) D/BEESE & H
EANAE X2t 22,000,000 =14 22,000
NEAHED &3t 188,700 28,850 159,850
201 €24 7,700 7,700 0
01 At 2t 2l 7,700 7,700 0
OYXXEH =H - FHI 100,000& *30CH 3,000
OEN SE5 HMH 2,000& =1000H 200
OHel=3Il 7¢ 30,000& 504 1,500
O&EN 2228 ¥ 3,000& »1,000H 3,000
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NEEN
HEh S ADIB T A
zalE g
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SA - BB B (BA) - MM - BHES e 52
301 LEHZ 1,000 1,000 0
12243 1,000 1,000 0
OXN&EA Ot XNHE 293 20,000& x50H 1,000
401 A& HIZ 2018 180,000 20,150 159,850
01 A& HI 180,000 20,150 159,850
ogedz AMEANsdZ Jlg 24 180,000
—LOiEA Y EXE &
180,000, 000& 14 180,000
H =l 2e| 140,000 27,000 113,000
= 42,000
s 98,000
BANESLEZSLNAAMS(BE 140,000 0 140,000
< 42,000
s 98,000
401 AIEHI L 201 140,000 0 140,000
< 42,000
s 98,000
01 A& HI 140,000 0 140,000
OEHIEZAY 140,000
—OATEOR T M AL
140,000, 000& * 14 140,000
< 42,000
s 98,000
HEAE 2tel 7,455,628 6,608,563 847,065
< 350,000
s , 105,628
HEANEEH , 706,575 5,787,160 919,415
302 OI=LTHOH E & = 10,000 10,000 0
02 2IQITHOH A =S FESENS 10,000 10,000 0
OZHEANE MDY 2 Hel 10,000, 000& 10,000
401 AIEHIZL 2] ,696,575 5,777,160 919,415
1T AlZHI ,680,000 5,763,750 916,250
OZHEANEEZ HESA ,680,000
UZHEANEEZ(AZ2-65H)HE S AH(
L 350m, B=21m) 530,000,000 =14l 530,000
—£-0SsD FH(ER2-184) C28
HHIAS( 495m, B=4~6m) ,000,000
3,000,000, 000& 14
— 235 AINX T=22F Ul 3 AH(L=6km, B
=8~15m) 1,900,000, 000 14! ,900,000
—SHEZAHEANEZZ2(LZ22-5, 4a54)H4
= AH(L=240m, B=8m) 1,200,000, 000& * 14 ,200,000
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2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—HOl ZHENAER(L204054) A=
ANESE2SE) 50,000,000& =14l 50,000
03 Al 2 THHI 16,575 13,410 3,165
OZHEANEEZ HEZSAL AIE 20
6,630,000,000& *0.25% 16,575
ZHHANLTY S (2 E) 350,000 0 350,000
< 350,000
TAIEHI &R0 350,000 0 350,000
< 350,000
01 A& HI 350,000 0 350,000
OZHIEx= AL 350,000
—EUADHEANECZ(AZ-145 M) E B A
(L=240m, B=8m) 200,000,000 » 14! 200,000
< 200,000
—ANFHEANEEZ(AZ2-88, 384 )4
3 AF(L=240m, B=8m) 150,000, 000& * 14! 150,000
< 150,000
THEANELEE SA2L 399,053 405,053 A 6,000
401 A& HIZ 201 I 399,053 399,053 0
01 A& HI 396,200 396,200 0
OAN&EE |X2el 300,000,000& =14 300,000
OZHEANE DI=2EX 24 96,200,000 14! 96,200
03 Al 2 THHI 2,853 2,853 0
OZHEANEESN2L ALY
396,200,000& *0.72% 2,853
SAITH A 5,749,656 0 5,749,656
= 3,342,000
< 668,000
s 1,739,656
S AILTH 28 A 5,749,656 0 5,749,656
2 3,342,000
< 668,000
s 1,739,656
SEANTHEXZEEH 2 77,315 0 77,315
101 @124l 77,315 0 77,315
04 012ZtHZ22 s 77,315 0 77,315
OEAMIHY FHXJAME 2AH| 77,315
—g8& J==2 1,821,900& 128 21,863
— 8% Jlet==Y 12,026,000& 12,026
— 8% 4028 21,863,800 *14% 3,061
— 8% ol 60,000& 60 3,600
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—8& =S 1,624,400 128 19,493
— 8% Jlet=Y 10,943,000& 10,943
— 8% 4028 19,492,800& » 14% 2,729
— 8& ol 60,000 60 3,600
SAMEASE DI8Eg 102,340 102,340
201 Let24d] 56,940 56,940
01 At 22/l 56,940 56,940
OZAMTHEAIY =& LBt=EZH| 56,940
—SAHEAY =& AR ESHI
3,000,000& » 14l 3,000
—SANHEAY =T =
8,000& x3H 100 2,400
—SATHEAY E22 ME(2EH, iU,
=IMPUE=)) 1,500,000& «3& 4,500
—SAMYEAY 820 MHEFE
70,0003 x6 % » 122 5,040
—SATNMAY 2485 EE2(RAs, 42X
2, SOt A S) 30,000,000& =14 30,000
— XM = 1,000,000& 122 12,000
202 oddl 5,400 5,400
01 = LH o4 1l 5,400 5,400
OEAMNMHY =AY =& O]
60,0003 x3H 30 5,400
401 Al HIZ 2018 40,000 40,000
01 A& HI 40,000 40,000
OSATHY 24E ZRAMY =7
40,000,000& =14 40,000
SATHY (L, 2 HIE, 8 &2 g3 #ERI]) 3,537,001 3,537,001
= 2,122,000
< 424,000
fia 991,001
101 14 Hl 159,216 159,216
04 JIZHHZ22XREE S 159,216 159,216
OZHIE= At 159,216
— A= JlEs 2,030,200& x12& 24,363
—AM22E JIE=E 13,761, 120& 13,762
—ANR=E 4UEE 24,362,000 x14% 3,411
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— AR =& 0 Hl 60,000 »60! 3,600
—E& |23 1,821,900 x12& 21,863
— & J|EtSE 12,026,000 12,026
— B & AHEE 21,862,800 x14% 3,061
— & 0l 60,000 »60 3,600
— 82 J=22 1,624,400 128 x2H 38,986
— 82 JIEg 10,943,000 »2H 21,886
— 82 AHEE 19,492,800 »14%*2 X 5,458
— 82 0oyl 60,000& 60 x2H 7,200
201 et 94,055 94,055
01 AP 22| H| 89,055 89,055
OZHIEXZANY 89,055
—HHE s+ 367,654 x8L x12& 35,295
— My & 2SS 60,000 »60 3,600
— =089 &9 10,000,000 10,000
— SAITHA XHAEH 29U (KBS Y|, X
QAMEH EES HZE) 15,000, 000& 15,000
—SAMMHUE 29 10,000,000& *23| 20,000
—ANE2EE 70,000& x4H x12& 3,360
— EAD X E 150,000& 12& 1,800
02 Z2=2=24%4| 5,000 5,000
OZHIEXZANY 5,000
—&I)lE § 222 5,000,000& 5,000
401 Al HI L 2 04| 3,283,730 3,283,730
= 2,122,000
o= 424,000
= 737,730
01 Al&H| 3,274,887 3,274,887
O2HIExZAY 3,274,887
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— % 2 HE, 8 g 3 HERI TA
A =2 ALY 14 3,274,887,000& 14 3,274,887
= 2,122,000
< 424,000
s 728,887
03 Al 2 0HHI 8,843 0 8,843
O=HIEXZ ALY 8,843
— 4.2 0.5 g &a HERI Al
MM SYAY AIZ2UHA Y]
3,274,887,000& x0.27% 8,843
gds e ALEitsS 2,033,000 0 2,033,000
= 1,220,000
< 244,000
[ia 569,000
201 et 55,000 0 55,000
= 33,000
< 6,600
[ia 15,400
01 At 2teltl 35,000 0 35,000
O=HIEXZ AL 35,000
—Fodz A (2sEtn, FHEt), TAl
MHACHE S 10,000, 000& 23| 20,000
= 12,000
< 2,400
i 5,600
— =Y 23 5,000,000& 14! 5,000
= 3,000
< 600
[ia 1,400
—SANY HEXNJMEH 2L (RS,
NAHH E22 MA) 10,000,000 *14] 10,000
= 6,000
< 1,200
[ia 2,800
03 &AL Z I 20,000 0 20,000
O=HIEXZ AL 20,000
— gty T2 XA (Aol2el,
MEHE S) 20,000,000& =14 20,000
= 12,000
= 2,400
e 5,600
207 O] 106,000 0 106,000
= 63,600
S 12,720
s 29,680
01 289 106,000 0 106,000
OZHIEx= A 106,000




2N

SANA=H

A S AL
CHlr S AITH A ALY cet )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—tsdc e =Y 54 89
30,000,000& =14l 30,000
= 18,000
< 3,600
i 8,400
—NUHE A= A (AN, s&
oA H ) 20,000,000& x23| 40,000
= 24,000
< 4,800
i 11,200
~HUE 2s g
18,000, 000& *23| 36,000
= 21,600
< 4,320
s 10,080
307 glz2tol & 20,000 20,000
= 12,000
= 2,400
s 5,600
02 It M AHE X 20,000 20,000
OZHIEx= At 20,000
—FUFE A S(FUHS2AY)
10,000, 000& *23l 20,000
= 12,000
< 2,400
s 5,600
401 AIEHI L 20 1,752,000 1,752,000
= 1,051,400
< 210,280
[ia 490,320
01 A& Bl 1,745,715 1,745,715
O=HIEXZ ALY 1,745,715
—gas A= o9 SAMY A 1
& 1,745,715,000& 14 1,745,715
= 1,051,400
= 210,280
i 484,035
03 AIE S THHI 6,285 6,285
OZHIEx= At 6,285
—gLS A= CAHY mEAS
|82 UHZ ,745,715,000& *0. 36% 6,285
402 RI2tXt20l M 100,000 100,000
= 60,000
< 12,000
[ia 28,000
02 2IZt 2 AL EZ (OIS ) 100,000 100,000
O=HIEXZ AL 100,000
— &=l X AY 10,000,000 * 109t 7 100,000
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= 60,000
= 12,000
= 28,000
QIAMEIA A 15,940 15,940 0
S Al2elQ A AH st 15,940 15,940 0
SYHsAEEX HEE Al 15,940 15,940 0
201 Let24d] 7,140 7,140 0
01 At 22l 7,140 7,140 0
Osg=sXNdEsX HEd 22 M
60,0003 x15J0 2~ 23] 1,800
OsYsdE FAH=EE 300,000& x53| 1,500
OEY s thx S 8,000 x5H 962 3,840
202 44l 3,800 3,800 0
01 SLHOYI 3,800 3,800 0
O=8sXNEE Al.22t WItE=s
60,000 x3H 102! 1,800
OSSN (HLE#HS) &= 20,0003 »2H x50 2,000
401 Al HI K 201 I 5,000 5,000 0
01 A& HI 5,000 5,000 0
OdFUE A 5,000,000& 13 5,000
OrsE D HHe A=235 =4 6,566,058 5,361,890 1,204,168
= 1,848,942
< 26,772
i 2,235,220
TH 2,455,124
OLSCE FAHEE ZdAY 6,529,648 5,325,480 1,204,168
= 1,848,942
< 26,772
i 2,198,810
TH 2,455,124
sHE BIZEHI 15,000 15,000 0
< 4,500
s 10,500
402 RI2HA=20| M 15,000 15,000 0
< 4,500
fia 10,500
02 QI EAILSEZ (01X E) 15,000 15,000 0
OZHIEx= AL 15,000
—sHEEEH 1,000,000& 155 15,000
= 4,500
i 10,500
SELE =EAY 45,000 45,000 0
402 2I2H X201 M 45,000 45,000 0
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Sl OISR FHEY ZAAY (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2IZEH 2 A B (KR ) 45,000 45,000 0
Os&8E =6AY 3,000,000 *15& 45,000
Sd0IE A=EE NSHE 46,640 46,640 0
< 13,992
[ia 32,648
402 RIZFR201 ™ 46,640 46,640 0
= 13,992
i 32,648
02 RIZE X2 AL EZ (01X ) 46,640 46,640 0
OEHIEXZAY 46,640
—Sol0lE AF=S NSHEAEY
2,120,000 »22= 46,640
= 13,992
s 32,648
Sd0IEXNS BEEH 20,000 20,000 0
< 6,000
s 14,000
402 RI2HX20| ™ 20,000 20,000 0
< 6,000
s 14,000
02 2IZE 2 A EZ(OI XM TH ) 20,000 20,000 0
OZHEx=AL 20,000
—sdO0EXNSE BIEFH 500,000& x40 20,000
< 6,000
s 14,000
UM F=HEAH K& 30,000 20,000 10,000
402 RI2HXt20l ™ 30,000 20,000 10,000
01 212t 2 AL E = (REMTH ) 30,000 20,000 10,000
OdYX =HAAHHIXF 2,000,000 «15MI CH 30,000
e A (XA 220,000 45,000 175,000
201 Let249] 62,000 0 62,000
01 At 22l 62,000 0 62,000
O#=xea AAxL BRE 2
200, 000& *200All CH 40,000
Of=Fe USR] U 2ER3
80,000 200 All CH 16,000
Od==8 B 30,000& 200 Al CH 6,000
311 X+ S0l At &f 60,000 45,000 15,000
04 XY H S0l At&f &t 60,000 45,000 15,000
o=zl XYM Ol Xta &
6,000,000,000% 1% 60,000
405 TtobFH S| 98,000 0 98,000
01 AL EZFH S 98,000 0 98,000
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Ha: Ol2SED HES AS2E X4
Sl OIS0E FHEY THAMY CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Odl==8 LAl=a FI| ¢ 98,000
— s 300, 000& =200 All CH 60,000
—d&¥n 150, 0002 *200All CH 30,000
— &2 40,000& *200CH 8,000
SHE Z0HQ FEOHZ ALY 15,200 19,000 A 3,800
= 7,600
< 2,280
s 5,320
402 RI2EX20| 15,200 19,000 A 3,800
= 7,600
= 2,280
s 5,320
03 212t & AL S HI 15,200 19,000 A 3,800
OZ3HIEx= A 15,200
— SOEZMHO FEIHEHAL
3,800,000& 4= 15,200
= 7,600
< 2,280
i 5,320
e A (EX) 6,137,808 5,114,840 1,022,968
= 1,841,342
s 1,841,342
H 2,455,124
403 UtXISHH S A= 0l& 6,137,808 5,114,840 1,022,968
= 1,841,342
s 1,841,342
T 2,455,124
02 S 2SO HEAE R 2 E AL H 6,137,808 5,114,840 1,022,968
O=HIExAY 6,137,808
—HEFEHAHE 6,137,808,000& 6,137,808
= 1,841,342
e 1,841,342
H 2,455,124
AN =g 36,410 36,410 0
Zeld=dH 28,640 28,640 0
201 Let249] 28,640 28,640 0
01 At 22l 28,640 28,640 0
Oo2d+¢ 2,240
—A=9AS SYLY 70,0008 <12 *13] 840
~ZEFUSYIIIANE 2Py
70,0003 »4H » 12 280
—33A=0 2+ 70,0003 x8H 23| 1,120
OASY THRY(HYEY 2)
100,000& =10 1,000




EM: TAASD
dM: OtEE0D =S A=23 =4
ool AFTN Y CREED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
O= &l 4,400
—A=YRFA 8,000& x5H +80 3,200
— 2SI FEYRFA 8,000 x3H x50 1,200
OH=EA HEUHY ===2 300,000& 70 21,000
gl =X 7,770 7,770 0
201 Let24dH] 2,250 2,250 0
01 At 2teltl 2,250 2,250 0
OSgde ot EE2S(82Y) ME
60,000 100K 2 +23] 1,200
Osgde A== &g =& 210,000& *53] 1,050
202 o4dl 5,520 5,520 0
01 =S LHAYI 5,520 5,520 0
OE2 2HH NE L o5
20,0003 »2H 50 2,000
OAETLH YIs, U5 S 4
60,0002 »8H x4 1,920
OR=SIEEH g2 20,0003 x2H x40 1,600
= THEEFO Wast ,650,411 1,406,480 243,931
= ,313,129
< 164,141
i 173,141
MESE X2 AY ,650,411 1,406,480 243,931
= , 313,129
< 164,141
e 173,141
HEW(EXZ) , 141,411 942,480 198,931
= 913,129
= 114,141
e 114,141
301 LBEAZ , 141,411 942,480 198,931
= 913,129
< 114,141
s 114,141
01 MEIBZE 2053 , 141,411 942,480 198,931
O=HIEX ALY 141,411
— FEHQI X2 (9000t 7) 1,141,411,000& , 141,411
= 913,129
< 114,141
e 114,141
HBW(=dR2) 500,000 450,000 50,000
= 400,000
< 50,000
s 50,000
403 UtXSHHS A= 0l& 500,000 450,000 50,000
= 400,000
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HE: ROIIZMHSTO LA
el JIZMEEE KA (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 50,000
= 50,000
02 ZI2SHUSA=2EAEAS Y 500,000 450,000 50,000
OZHIEXZAY 500,000
FEH KM (BRSE) 500,000, 000& 500,000
2 400,000
& 50,000
= 50,000
MASHE dHESZ2 N 9,000 14,000 A5,000
501 X3 9,000 14,000 A5,000
01 212t X2 9,000 14,000 A5,000
OMASHE 2dUHEE=2 & 9,000,000& 9,000
MEES(SAIHA=D) 735,673 138,000 597,673
WEAHA XK= 735,673 138,000 597,673
28E32 735,673 138,000 597,673
702 12852 735,673 138,000 597,673
o1 J1=2ds2 735,673 138,000 597,673
o= NFHIN2 82 735,673,000 735,673
HEMSAAH (ZTAAHASH) 101,376 101,376 0
JlE&ddl 101,376 101,376 0
Jl2 &4l 101,376 101,376 0
201 LBt 53,976 53,976 0
01 AP 22| H| 53,976 53,976 0
OBANEZNH 1,831,000 x24H 43,944
Ol 8,000 x24H x5! 4,800
O=ZAII Y Xt 5,232
— ZH S A 286,000 x1CH*x12& 3,432
— S S A 150,000& x1CH =12 1,800
202 o4 | 43,200 43,200 0
01 2Ll 43,200 43,200 0
O2LH O bl 100,000& 24 x12& 28,800
O22 o H| 75,000& 24 x8 14,400
203 € R F & 4,200 4,200 0
04 EASHEIRFAH| 4,200 4,200 0
OBAM2d9g2=&Y| 350,000 x12& 4,200




